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1) Show the calculation of dominance for each of the landscapes (Landscape A and Landscape B) depicted in Slide 101.
D1 = lnn + ∑ Pi lnPi
n = number of land cover types

i = 1
Landscape A:

Proportion of grid cells in land cover i for agriculture – 3/25 = 0.12
Proportion of grid cells in land cover i for forest – 22/25 = 0.88

Landscape B:

Proportion of grid cells in land cover i for agriculture – 11/25 = 0.44

Proportion of gird cells in land cover i for forest – 14/25 = 0.56

Landscape A Dominance:

D1 =ln(2) + ∑ (Pi) (lnPi)
D1 = 0.69315 + ∑ (Pi) (lnPi)

D1 = 0.69315 + ∑ (0.12) (ln * 0.12) (Landscape A - Agriculture
D1 = 0.69315 + ∑ (0.88) (ln * 0.88) (Landscape A – Forest

D1 = 0.69315 + (-0.36692)

D1 = 0.32623
Landscape B Dominance:

D1 =ln(2) + ∑ (Pi) (lnPi)

D1 = 0.69315 + ∑ (Pi) (lnPi)

D1 = 0.69315 + ∑ (0.44) (ln * 0.44) (Landscape B – Agriculture

D1 = 0.69315 + ∑ (0.56) (ln * 0.56) (Landscape B – Forest

D1 = 0.69315 + ∑ (-0.68593)

D1 = 0.00722
2) What is the minimum value of the dominance metric (D1) shown in Slide 100?

The minimum value of dominance shown in Slide 100 is 0.  Dominance approaches 0 for maximum equitability and increases >0 for higher dominance.  A low D1 value means H1 is close to H1max, which means the system is nearly in a state of equiprobability or  a high degree of diversity present.  On the other hand, a high D1 value means that H1 is small relative to H1max, which means the system has diverged substantially from equiprobability and is not very diverse.
3) The maximum possible value of D1 is a function of ____the number of species or in our case the number of cover types___.  For a landscape with 5 cover types, the maximum value of D1 is ___?___ (to three decimal places).
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